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. Write the chemical cquation for the reaction sodium salt of benzoi

LN — HYDROCARBONS

Explain the types of resonance effect by taking suitable examples each.
Identify the products of A and B in the reaction,

CHy-CH=CH, —"r— A  Kolle), p
Describe Friedel crafts alkylation and acylation reactions.
Write the structural formula of acetylene. How can it be obtained from
1,2-dibromoethane?
What is the necessary condition for a system to be aromatic?
Covert ethyne to nitro benzene
Convert Hexane to benzene
Convert Benzene to parachloro nitrobenzene.
Why melting point of trans but-2-ene is greater than cis but-2-ene.
Why alkynes undergo addition reaction
An alkene A on ozonolysis gives a mixture of methanal and ethanal. Write the
strueture of alkene along with TUPAC name and show the reaction.
Addition of HBr to propene yield 2-brono propane, explain and give the
mechanism.
Draw the

and trans structure of hex-2-cne.

‘Write the chemical equation for the reaction ethyne treated with mercuric
sulphate and dilute sulphuric acid at 333K.

id on

heating with sodalime.
Enplan  the  hymrdisatiel q. CaHy..
Convert benzeic aud to. benzene
Convert benzene to p-nitro bromo benzene.
An alkene on ozonolysis gives a mixture of ethanal and pentan-3-one. Write the
structure and IUPAC name of A.
Write a note on Wurtz reaction.
Write a note on Friedel crafts alkylation and acylation reactions.

Arrange the following compounds in the decreasing order of the property
indicated:
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(i) benzene, n-hexane, ethyne (acidic behavior)
(i) benzene, m-dinitrobenzene, toluene, (reactivity with an electrophile)

- What effeet does branching of an alkane chain has on its boiling point?

Draw the saw horse projection of ethane.

Write the chemical equation for the A’eactinmp‘lqpﬁnmcated with mercuric
sulphate and dilute sulphuric acid at 333K.

Complete the equations
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Convert ethyne to benzene.
Convert benzene to p-nitro bromo benzene.

An alkene on ozonolysis gives a mixture of prspanal and pro panene Write the
structure and TUPAC name of A.

. Write anote on Avomatisakion

Write anote on Isomerisation .

write | down the  produtts ' of 0xonolysis of
12 -dimethgl benzene - How does the Same  wesalt
sdapport Kekules  stvucture -for benzene 7.

write  the . meéchanism of conversion of beozenc ts acetophenone .
State huckel’s rule of aromaticity.

State markovnikov rule,

State Kharash effect.

Write short note on:

(a) Inductive effect

(b) Positive resonance effect

(¢) Hyper conjugation.

. Convert benzene to

(a) meta nitro chlorobenzene
(b) acetophenone

(c) chlorobenzene

Write note on:

(2) Decarboxylation

(b) Acidity of ethyne
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bonds.
A’ on ozonolysis gives 2 moles of an aldchyde of molar mass 44 u. Write the
TUPAC name of *A” and the ozonolysis reaction of “A” to get the aldchyde.

42, Draw new man projection formulac of staggered and eclipsed forms of cthane.

43. Write the structural formula of acetylene. How can it be obtained from CaCy 2

44. Whatis the necessary condition for a system to be aromatic?

45. How is BHC prepared L

46. Rlectropncbc substifutions th phemel takes plae
at  ortho and para pesitions , but i1 nitrobenzene it
5 at . meta position. Explatn -

47. Although (eHe 15 unsalurated [k cots mot undergo additioh veackions
48. Why is it that C-C bond distance in benzene is intermediate between C.
and double bond?

ingle

49. A hydrocarbon, 7 has a molecular formula CgHq. It does not decolourise
bromine water with potassium dichromate it gets oxidized to benzoic acid. It can
also have three isomers A,B and C. Write the structures of A,B,C and Z.
50. Draw newman projection formulac of n-butane.
51, Explain the mechanism of following reactio
CH3COO'Na' +2H,0 — CH; CH;
. Which of the following system are aromatic?

)

(i) (i)

2C0, + H, + 2NaOH

53. Give reasons:
(a) Fthyne is acidic.
(b) Friedel crafts alkylation of benzene with 1-chloropropane in the presence of
anhydrous AICI; yiclds isopropy! benzenc instead of n- propyl benzene.

54. Addition of HBr to propene yield 2-bromo propane, while in the presence of
R e

me vields 1-bromo nronane. Exnlain
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. How do you accomplish the following reactions:

(a) cthyl iodide to butane
(ii)Ethyne to benzene
(c) Propyne to propanone.

groups attached to the benzene:
(@ NI (b)NO, (c) OH (d) St

H

. Which of the following system is aromatic?

Convert Phenol to toluene
wril the Shuding amd mame 4

. Why cis but-2-cne has high BP and trans but-2-ene has high MP?
. State the directive influence and activating/deactivating effects of the following

e iggmurs of perlyne

An alkene A on ozonolysis gives compound B. Compound B can also be
obtained from an alkyne having molecular formula C;H, by addition of water.
Identify A and B.Draw geometrical isomers of compound A. Which geometrical

isomer is more polar? Why?
Convert sodium acetate to cthane.

Among the position isomers of butene only but-2-ene exhibits geometrical

isomerism. Why?
Convert Benzene to Acetophenone.
Convert Benzene to cyclo hexane.
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